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1. A) i Given two masses, m; = (100.0 & 0.4) g and my = (49.3 £+
0.3) g, what is their sum, m;+ms, and what is their difference,
my — Mo, both expressed with uncertainties.

ii. What is the absolute and percentage uncertainty in the cal-
culated area of a circle whose radius is determined to be
r = (14.6 £0.5) em? (Hint: AA =27rAr)
You should be using the correct number of significant
figures in your result.
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B) The position of a particle moving along an z-axis is given by z(t) =
12t2 — 2¢3, where x is in meters and ¢ is in seconds.

i Determine the acceleration of the particle at ¢t = 3.0 s.

ii What are the maximum positive coordinate reached by the
particle and the acceleration of the particle at that instant?
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2.

Three vectors are given as:

i A (B+C),
A = i-5%k i A (B x C),
B = 31—2j, . .
d — b5 +j + iii The angle between A and B,
Find: iv. The angle between Aand A x E,

-Fil wABC) = 8-0-5=3

bxC=(8G-5 g)w(g}gﬁ@glcé)ﬁ(gr_@.gc m

= (€20) -0t ¢ (UDZNNTH BYD-(2)(5))
= 2isfzl O

_9

~o AXD) = -2 - 0-65=-6+@
. R.B=AH 5)[&;8@}&\—)’1‘4—(4} s
@ (Bl=f2*1(2)* = 2.6
DL 3 = 5.10x3.6(k(osl @3 B30 w0=3
f\?aﬁaﬂ ~0.16 /\'79"&5'0/6 50.6°

5l0¥24]

L. AMAx&@/WW

== 0



3. In figure given below, a stone is projected at a cliff of height h with an
initial speed of 42.0 m/s directed at angle 6y = 60° above the horizontal.
The stone strikes point A in 5.50 s after launching.

Find
i the height h of the cliff,

ii the speed of the stone hit at
point A,

iii the maximum height H reached
above the ground.
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4. A boy whirls a stone in a horizontal circle of radius 1.5 m and at height
2.0 m above level ground. The string breaks, and the stone flies off
horizontally and strikes the ground after traveling a horizontal distance
of 10 m. What is the magnitude of the centripetal acceleration of the
stone during the circular motion?
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5. The block shown below moves down at a constant speed. If the block
has a mass of 26 kg and the coefficients of kinetic () and static (us)
frictions are 0.3 and 0.4, respectively;

i Draw free body diagram for the block,

ii Determine the magnitude of applied
force.
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1. A) The side of a cube of metal is measured to be (1.60+0.05) cm and
its mass is measured to be (30.1+0.4) g

i Find the perimeter of one face of the cube with the uncer-
tainty.
ii Find the volume and uncertainty in the volume.

iii Determine the density of the solid in kilograms per cubic me-
ter and the uncertainty in the density.

You should be using the correct number of significant
figures in your result.
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B) A rock is thrown vertically upward from ground level at time ¢ =
0 s. At t = 1.5 s it passes the top of a tall tower, and 1.0 s later
it reaches its maximum height. What is the height of the tower?
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C) An airplane is flying in a horizontal circle at a speed of 480 km/h
as given in the figure below. Its wings are tilted at angle § = 40° to
the horizontal. Assume that the required force is provided entirely
by an “aerodynamic lift” (Fr,) that is perpendicular to the wing
surface.

FL

i1 What is the radius of the circle in which
the plane is flying ?
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ii. What is the magnitude of Fy, if the air
plane has a mass of 240 x10% kg ?
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2. Three vectors are given by @ = 3.0i+3.0j—2.0k, b = —1.0i—4.0;+2.0k,
and ¢ = 2.0¢ + 2.07 + 1.0k. Find (a) @.(b x @), (b) @.(b+ ¢), and (c)

a x (5—1— 0).
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3. A projectile is shot from the edge cliff 120 m above ground level with
an initial speed of 60 m/s at an angle of 30° with the horizontal.

_____ i Determine the distance X of point P
el ™. from the base of the vertical cliff.

N ii. What is the velocity v at point P in
s magnitude-angle notation and in unit-
\ vector notation?

. iii Find the maximum height reached by
projectile above ground.
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4. A block of mass m; = 6 kg on a frictionless plane inclined at angle
0 = 60° is connected by a cord over a massless, frictionless pulley to a
second block of mass my = 8 kg as given in figure below.

What are

i the magnitude of the acceleration of
each block?

ii the tension in the cord?
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5.

Two blocks (m; = 4 kg and my = 1 kg) on

a rough horizontal surface (ur = 0.2 for both E

blocks) are pushed to the left by a horizontal ﬁbx lz =
force I, = 80 N. Another force F, = 20 N &
is vertically pressing the block mgy to the sur- m, g e—
face. There is no friction between the blocks.

Use the coordinate system as depicted in the it =012

figure. Take g = 10 m/s?.

i Find the normal force vectors (use unit vector notation) exerted
by the surface on each block

ii Find the frictional force vectors on each block
iii Determine the acceleration vector of each block.

iv Find the action-reaction force vectors exerted by each block on

the other.
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1. A) The side of a cube of metal is measured to be (1.60+0.05) cm and
its mass is measured to be (30.1+0.4) g

i Find the perimeter of one face of the cube with the uncer-
tainty.
ii Find the volume and uncertainty in the volume.

iii Determine the density of the solid in kilograms per cubic me-
ter and the uncertainty in the density.

You should be using the correct number of significant
figures in your result.
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B) The position of a particle moving along an z-axis is given by z(t) =
12t2 — 2¢3, where x is in meters and ¢ is in seconds.

i Determine the acceleration of the particle at ¢t = 3.0 s.

ii What are the maximum positive coordinate reached by the
particle and the acceleration of the particle at that instant?
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C) A helicopter is ascending (move upward) vertically with a speed
of 5.40 m/s. At a height of 105 m above the Earth, a package is
dropped from the helicopter. How much time does it take for the
package to reach the ground? [Hint: What is v, for the package?|
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2. Vectors X and ﬁ lie in an zy-plane. X has magnitude 8.0 and an
angle 130°; B has components B, = —7.72 and B, = —9.20.

i What are 52 . ? and 42 X 3? in unit vector notation?

ii What is (37 + 57) x (42 X 3?)? Find magnitude and angle of
resultant vector.
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3. A ball is shot from the top of a building with an initial velocity of 18
m/s at an angle § = 42° above the horizontal.

i What are the horizontal and vertical components of the initial
velocity?

ii If a nearby building is the same height and 55 m away, how far
below the top of the building will the ball strike the nearby build-

ing?
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4. Consider the system shown in figure with my = 9.5 kg and mp =
11.5 kg. The angles 64 = 59° and 05 = 32°.

i Draw the free body diagrams for block A
and block B.

ii In the absence of friction, what force F
would be required to pull the masses at a
constant velocity up?

iii. The force F' now is removed . What is the
magnitude and direction of acceleration of
the two blocks?

iv In the absence of F', what is the tension in
the string?
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5. In Figure, blocks A and B have weights of 44 N and 22 N, respectively.

Frictionless,

i Determine the minimum weight massless pulley

of block C to keep A from sliding
if us between A and the table is
0.20.

ii Block C suddenly is lifted off A.
What is the acceleration of block
A if py, between A and the table
is 0.157
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. (Measurement) Calculate z and Az for each of the following cases:
i z=x—-25y+wforz=(472+£0.12) m, y = (4.4 £0.2) m,
w = (15.63 £+ 0.16) m.

ii z =% for w = (14.42 £ 0.03) m/s?, r = (3.61 4 0.18) m,
y = (650 £ 20) m/s.

iii z =23 for x = (3.55 4+ 0.15) m.
iv z = Asiny for A = (1.602 +0.007) m/s, y = (0.774 £ 0.003) rad.

Answer: i) (9.4+0.5) m ii) (0.080 4 0.005) m/s iii) (44.7£5.7) m?3
iv) (1.120 & 0.006) m/s

i 25y = 25 (44 toL)m = (41+05)m

2= (4F72-1+15.63)m = 8.35m & A=\ (o.um)'+ (o,um)%(o;bm)ﬁ‘
= O.‘?}ﬁrn
2747 = (941 05)m (leask preasc)

i z:(ﬁli/sj)jz«erm o wBEEml (DS
650 m/g s ‘7 fy
I _—
A% = lposom J < 6.03mts’)"+ ( odsm \' 4 (_20'00) — pooy6Imjg
/ ! ] 4-92m|s* 3.6im 650ny;
4+A1r= (00801 0007)mfs.

wo2=(35am)P = yyp X 4z =35m)?

Ax = (3:.9m)3 134 ( g-“%’% = 5.6+ m8
=

243 = (44+ + 5F)m

W Sing ol (msg 43 ) = sin (o:.?'.;qrod ) * s (0H Y rod) (0‘093 rad)

% = (1602m); {0,693 ) = 111380 m/s

. e
Az = (4.41950 mfs) w)ﬂr (M)) — 80059791 m/s
¢.699 1.602 mfj

2+ 4% = (4.420 1 ©.006) mfs.



2. (Measurement) The side of a cube of metal is measured to be (1.6040.05)
cm and its mass is measured to be (30.1+0.4) g

i Find the perimeter of one face of the cube with the uncertainty.
ii Find the volume and uncertainty in the volume.

iii Determine the density of the solid in kilograms per cubic meter
and the uncertainty in the density.

Answer: i) 4a—(6.40+0.20) x 1072 m ii) V=(4.1040.38) x 1076 m3
iii) p = (7.34 £ 0.69) x 10% kg/m?

f_ ]-"‘ A=(1.60 1005 ) e =(160£p05) s
= M= (%Mmg,lf (30. f.ta’é)xf'ﬂé‘x_
Y 55 g
< Py &’}"‘ 4a @4('!’ éé‘ﬂ)m))c/dm—/fg’::?fﬁ)g)#’;f“
ft’-)w{fmz( V' =" ~5 C A" Ac=c)
> V=4’ (Mam-m}a & /{:' KM
AV= a? /3] da f—"a = nltxsc[3) 005 =033/

7-60
= Volur - é: (0 fca—?g Ve sols

$E =)

é'
/H'

=

fﬁ) C?Z/?fﬁ-%%(- j."*ﬁ}l/i C=
=g, Ac=|
53 = 30.Ix/p /Z i L é i (‘A) "l/dﬁ)L
4AOxigCy3 a‘iA"' v E'%émﬁé/‘,
Ap=|30./ ¥ Bt
f/w;ﬁ-.;,:; )@f Vi)l sy
ﬂ?cﬁﬁwj f= (7 %tam)ua‘gﬁﬁ @mn/téﬁ

J,}aﬁ




. (Measurement) A circular disk with a radius of (8.5040.02) cm and a
thickness of (0.05040.005) cm.

i Find the perimeter of the circle with the uncertainty.

ii Find the volume and the uncertainty in the volume.

Answer: i) 27R = (53.4£0.1) x 1072 m ii) V=(1.140.1) x 1075 m3

R=(850%£0.00)cm = (8501 0.02)x10 %m Qs

@t t = (0,050£0.005) em = (0.05020.005)x10 *m (2sf)
)

—

I

f«,
=f
o0
o)

o) 2mR

b) v =(mR*) ¢
_LU-steP . Raised to o power C , 4¢ g

I

L—

N
5 J
i
)
=%
N
b

. =} v
~R> Cc=R*214R = (R.50x10 =) |2]
BT i R { ) 8.50

L

=2
g -,
= (&EO)HD m) 0.3‘.‘ 0 { e

= F.23x103mt
> (F23x9¢ 0,34xIo 1) mt
TR = 22%x10 2% 1.0%

Zrd step i MulHplation with o Scalor

mR*>=(22.#x10¥ £ 1.0 xjo 4 Jmt’

3rd sfep + Multipla fion/ Division

C=AB ~y AC= lcl\l (i\lﬁ_)l.f(%i)l

=(22#x10¥ m* ) (0.05%I072 M)
3
1

= 4\ - 2,
| Ly xi6 S me | \l < LOTuS ) +<O.oo€)
224107 0.05

= 4.44x107°m

444 X(0 ®m?3

i

l TP o.L)xn0_5m3) (2. si9 10‘35)




4. (Motion Along a Straight Line) The position of a particle moving along
an z-axis is given by x = 12t> — 23, where z is in meters and ¢ is in

seconds.

i Determine the acceleration of the particle at ¢t = 3.0 s.

ii What are the maximum positive coordinate reached by the parti-
cle and the acceleration of the particle at that instant?

Answer: i) a(t =3 s) = —12 m/s? ii) z(t =4 s) = 64 m, a(t =
4 s)=—24 m/s?

€) 26t) = jpt® 43
56 )= _%’£= 24t -¢t* @
@ O
eUe) = d’Lﬂ 7 flé@q@ff—’gi) s lly=i2x3=~12 ﬁf/.f.

)

MG Vimiim /ars// w u.;m/zmé» D Wit)= JK—-C‘@
LGt t: o &L -)= =0 .25 Lo 4////@
~> w;{ =4s)= 1244)% 204)3 = 192125 = éém.
LlE=45) 2264 - 204 = - 24 /> (7) 73




5. (Motion Along a Straight Line) A helicopter is ascending vertically with
a speed of 5.40 m/s. At a height of 105 m above the Earth, a package
is dropped from the helicopter. How much time does it take for the
package to reach the ground? [Hint: What is vy for the package?|

Answer: ¢t =521 s

?fl % & ;7%’ €™ L/k ek LI'{‘“&J@& ﬁ;"'"i'
" D) . BT = e i

Feeto

J o= bt-L9t" 0
~105-0 4t ~ L IGE i fug €= 54t-l0s=0

_',‘«* .‘_51 e 4.&’& -(—t-4)+ &4)- H«ﬂfi +5.é.,{t3i"'

- _{—5@) i][s.c,) é.vgﬂafﬂw-ﬁ_' 5.2/5 ¥ l/ sV
YA @ ~T77x TEX

éf.,f-"




6. ((Motion in Two and Three Dimensions) A ball is shot, from the top of
a building with an initial velocity of 18 m/s at an angle § = 42° above
the horizontal.

i What are the horizontal and vertical components of the initial
velocity?

ii If a nearby building is the same height and 55 m away, how far
below the top of the building will the ball strike the nearby build-

ing?
Answer: i) v, = 13 m/s vy, =12 m/s ii) y = =33 m

st

g i"_. =, v
[ s Vi e
< = é:(,lw
1, & 55M
!

Hoowm n
b Lr" f/‘ﬁ( f& [3‘,% (_';;{J = g»'";. ‘.iln,///

Uzg.-— Vo S0 = ta%ﬁ.ag,a 12.6/ m/;

)
""I-‘:) b=z & Aw =g, £ ~» f:fﬁ ;ff

f /j-}f_ = 535M &5 i e //5_
@ YUy  73-33m) @“
g ’Lz,far.?( ,»éwf( f&. . {/f‘fg:é’ @.\,5&:6’

Aj@’y y *L‘i - r[_/ @
—(ﬂ 04,641 )- Losle )

=~ 33 5;1.‘. ;r?/:r::(.f 5/ A :.5/,{’150!

T O Vide h Z;W



7. (Motion Along a Straight Line) A boy sees a flower pot sail up and then
back past a window 1.5m high. If the total time the pot is in sight is
1.0s, find the height above the top pf the window that the pot rises.
Answer: 1.5 cm

t = tme of ascent thwough a height 'h'= tme of descent

~'Hnr0uqh Q Migh‘l’
Cihwoic. dewnweord @S the pasibve Y- drechon

@
: U= Yoyt 4 ALoyt”
,}h,t -l Rl i
] ‘“EJ@‘ Jrom L te L8 h;fzi,’gtl_
| N
j{ 1 ) i .L
zH-{=1'-=?m -me;l.voJ. h+H_f‘i,3(t+.b>
x A9t*4 H =44t* 49t . 3
_j-ﬁ RC] l/yé+ fﬁ/ 1“53‘&,1- 2

X . (98).t 4+ 38
45 = L38)--’5+ S

| + = 005bs
" - .
h= 4 (38 m/gi) (o.a'%s): 15cm
5




8. (Vectors) For the following three vectors, what is 3C - (24 x B)

A = 2.00i+3.00j — 4.00k,
B = —3.00i + 4.00j + 2.00k,
C = 7.00i —8.00;
Answer: 540
A
2{?:‘. h?*bg-'gk @
ke at-uf @
== } 3 ¥ 22 10 -(‘B»ZM)J + (1o +t3
apul = | 6 6 | cd\a &5
sl oM LT kbl +’3'4-V—@
A |)
= A & '&hk\C
_ (anf ~2u3)- (ud + 1o £

2T - (288 )

2l.1b =@

24Uy -

—
—



9. (Motion Along a Straight Line) A stone is thrown vertically upward.
On its way up it passes point A with speed v, and point B, 3.00 m
higher than A, with speed 3.

i Calculate the speed v and the maximum height reached by the
stone above point B. At the instant when the first ball is on its
way up at point B, second ball is thrown upward from the ground
and with an initial speed of 32—”

ii. How long after the second ball is thrown does it take if the two
balls are to meet at the point A.

iii What is the height of the point A above the ground if the two
balls are to meet at the point A.

Answer: i) v =8.86 m/s h = 1.00 m ii) t = 1.36 s iii) y = 9.00 m

%Al}h i) Qf:w&;ii%ﬁg

= —pl~ - — 1 7.; 07_._/- H

L};B ‘[H (Z) - 3

A s

| 4 f — T )
T‘#l o \}::J'isg% -.-JoLS-&I)(Z% = 386
|
[
|

0 = (V¥\*_24h
(Z) -

4 h = LL- = _;8_%11 = 1.00mMm

89  5(381)

~= ) o B v
LL) ﬂj st}cyt .J:JL_OHt
-H =8t _1gt*
YA L'St

443 8 Juq3 + a@ane)

9.8

4.91t+ - 3% ¢ _3=0 — t =
2
4t =136s
T ::;3_\_}t -L"LL
uL) 9 = )_ﬁ
- 3 (8.56)(136) — 4(381) (4.36)*
2 2

= 9.00m



10. (Motion Along a Straight Line) A juggler performs in a room whose
ceiling is 3.00 m above the level of his hands. He throws a ball upward

so that it just reaches the ceiling.

i What is the initial velocity of the ball?

ii. What is the time required for the ball to reach the ceiling? At
the instant when the first ball is at ceiling, the juggler throws a
second ball upward with two-thirds the initial velocity of the first.

iii How long after the second ball is thrown did the two balls pass
each other?

iv. At what distance above the juggler’s hand do they pass each other?

Answer: i) v, = 7.67 m/s ii) t = 0.782 s iii) t = 0.587 s iv)
h=131m

e 1) "= Uyt 2oy 4y
EJ ‘ o = & —29H
N_ﬁ ISR Vo = { J_(é.ﬂgT)g,; =F.6F mls

1l =
Ye I %/ = Uo
S

'L[) U\j = doj _’t@\jt
O = F.6F -(38)t +=9.362 s,

& —

s - Uoy-t TH -
u.t) Ad = U~J t ::_— aj
Hoh=o0+4 g (forthe frst bell)

3-h = 4(981) &)*
poz

h_- Wt A aW z
[ Vo t L3 )
Vho= 2(3.6%) ¢ — 438D W)
3 p)
g9t~ t' =058%s

‘ 1 I\ &
Y 3-5 1t ¢ g.9/E) =
7 B / h=131m

10



11. (Vectors) Vectors A and B lie in an xy-plane. A has magnitude 8.0
and an angle 130°; B has components B, = —7.72 and B, = —9.20.

i What are 52 . ? and 42 X 3? in unit vector notation?
ii What is (31 4+ 57) x (4Z X 3?)? Find magnitude and angle of
resultant vector.

Answer: 1)5Z B = 83, 58, 4A % 3B = 11354 &
i) |(3i +5)) x (44 x 3B)| = 66205, 6 = —31° OR = 320°

A 4 B i - f’/‘fk %59%7_ Jz“‘z:/y 4‘?’/11%14-

1A 1=8 with, zgz@ S & B,.-772 .»Sg,—-ﬁm

_—_-> A'= ) R1G5130 2 4 ) Snlip J=-slqireldT
B=-7-722¢ éf.c?[f)/

() sA.B=s -c;/g.wég)) (-Hz 92D ) @
= 5 [FsHipel-7FH€ 132(-9.20) ] =83 5§

i & ¥  (usrs0= B2 6))-1:

ngﬁ-— 56 2452 .»:“ﬁ = (02 Mmbﬁ)o)j

N

.23/6 -226 @ D! (e 56)-22.6)- r04.52)(-2316) ) k

@
= 1135410 ﬂl

= b
i) (32455 )x(ﬁf»:» k)= _}(j;jjj;ﬁ&;if )

el

4":"3""’”‘1‘5 = 5222+ Gpatsd)
5 =1 5o Sl

jwﬁdxz : )/:'H) +( @3460"*) 6'6«25‘5"@

Y tee _—-_:?if_{:_. =3 e e 329°
e e O =6rr —

11



. (Vectors) Given two vectors, A = 5i — 6. 5j and B =—-35i+7j. A
th1rd vector C lies in the xy- plane Vector Cis perpendicular to vector
A and the scalar product of c Wlth B is 15.0. From this information,

find the components of vector C.
Answer: C;, =8.0and C, =6.1

- - - -3
A and C aie PC;T)GI)(J((LI'Q-", So A-C =0

AxCx +AYQy = o
50Cx— 65Cy =0 (4)

3(2 =150, so —35Cx +7.08y =150 (.2,)

'wWe hove two t=<1uaﬁbns in two unknewns Cx O"ty Q;‘
<EV|@ 9ives Cx=8.0 and C:_tj’—‘fovl

12



13. (Motion in Two and Three Dimensions) The position of an object mov-
ing along an x axis is given by x = 3t — 4t> + t3, where z is in meters
and t is in seconds.

i What is the object displacement between t = 3 s and ¢t = 4 s7

ii. What is its average velocity for the time interval t=1s and ¢t = 3
s?

iii Is there ever a time when the velocity is zero 7

iv. What is the its instantaneous acceleration at t = 2 s?

Answer: i) 12 m ii) 0 m/s iii) 0.45 s, 2.21 s iv) 4 m/s?

- -
' v < =Lyl — xli‘l‘;') 5
1_) AK — ‘:L“ L-) Q_
> s = = 1'»—{..--*“:'}_-1"\
b=lo) = .4y -Lu U =m Ax = 12m = w./
PR A= e W@ il
H—’%B-L.T+b = 0™
yLe=s>00
- oy l{:h}
N~ _ &R - YLL{- =2y = et p=
L\\} \1:\'1"3 D“l 5 .‘l ____._%.-.
. . O™ _ oS ‘
e -3% ) Lll"} + 3-!' _—C,"-(\ L0 IlII\Ju\'j - ".;T -
7\1\\—.-5)5- L i"’_.g.n e
'l\j — 3l -l
‘?‘Ukt‘-: : ’ ) . C
e—— .L'(’-__ 0 = (4 ~Brt
p"="g y- gt 11 Niys
. , T = =y
L) \\L“ S g3 \23
o by > =5
— i
B e ——— \ i,
ot N - gl 0,498
e T I < -
\{\ = t : _ i :
\ e
o G B sy _}_-———’:“ . ‘1.’ ] = {_{ﬂl\ (
A —1
i ™ L4 Qo LE=
C = o {Y'\L f + L / \ Y
1\_! \\ ",M,x; o ‘d‘_ —
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14. (Motion in Two and Three Dimensions) A certain airplane has a speed
of 290.0 km/h and is diving at an angle of # = 30.0° below the hori-
zontal when the pilot releases a radar decoy (see Figure below). The
horizontal distance between the release point and the point where the
decoy strikes the ground is d = 700 m.

i How long is the decoy in the air?

ii How high was the release point?

Answer: i) 10 s ii) 893 m

3 ) o-290\s0), = 290 (1003 =304
‘ (6oX60)y =
v = Umo - @NM
b = VUpcos & tz

yormeee OO
4

b\ "'\(\ - = S < .M;;:}Nt "-Li %ﬁ)rvm @

x:}o
X\ R{\(t\t)

“‘H e i f } - \r\\_o (‘O\*

‘B

(5N

—«5&;&
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15. (Motion in Two and Three Dimensions) You throw a ball toward a wall
at speed 25.0 m/s and at angle 6, = 40.0° above the horizontal (as
given in figure below). The wall has a distance d = 22.0 m from the
release point of the ball.

i How far above the release point does
the ball hit the wall?

ii What are the horizontal and vertical
components of its velocity as it hits
the wall?

iii When it hits, has it passed the high-
est point on its trajectory?

Answer: i) 12 m ii) v, = 19.2 m/s, v, = 4.8 m/s iii) NO

(2
. 32l LI _ 22m :\i_u.__\,i
L\} i Y =7 (;\:—_(i':du.iﬁjﬁa * =2 B o craga lzimiy) 23R
é'_'\!lox- n

—_—

1
A ~%L‘3* S
4 L-ﬁrﬂ.lf} [{:15%)

whel ;@

s s Bo
= Nagi¥ = 4 8 3=
i Gl 2 i

=7
y= lzsmly) win@) LT

= lt;lug.r(\- bhh% =

/_j®
L @““ B -.ﬁl’“h saly) SAkQ = \g. 8l (1)
L.L\} Ny = au\ = Ll'hﬁ oy _-.,:Ch.imlj A

- o '.,lnuD} =
Lall Wits Phe

e ‘J@ Lilllll’ﬂ'f_] ‘> O
: e ok on i
oty (e BRI UL g

s *‘“TQL#ME'I!L

L o= oo Se —

E

g {0\-"4"1:\1
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16. (Motion in Two and Three Dimensions) A 2.7 kg ball is thrown upward
with an initial speed of 20.0 m/s from the edge of a 45.0 m high cliff.
At the instant the ball is thrown, a woman starts running away from
the base of the cliff with a constant speed of 6.00 m/s. The woman
runs in a straight line on level ground. Ignore air resistance on the ball.

i At what angle above the horizontal should the ball be thrown so
that the runner will catch it just before it hits the ground?

i1 How far does she run before she catches the ball?

Answer: i) thetag = 72.5° ii) 33.3 m

Ao =20.0M [5 the ball moves in projéctile motion.
The woman and The o trowel

N
~for -the same tme and must
\ 2
fravel the same heori2ontal dufone.
H-:L,S:om so fer ~the. boll UYox = a0 mMis.
' -
Y= b.0om/s L Mex = o ces®
3 , bl
& = Cos'( \Jox
i ‘ 7 Ue

e = ('_O_S‘! ) .00 ml—s ::42‘3‘:
20,0 mls

. Cheose upward as the fositive j-d.’rcchon
— /| <
-H = Cosin@ ¢ __.Lgf:"
v
T R, 17 =) 4 , 2
“45.0m) = (20,0 mfs) sm(#2.5") + —4-(9.81 mjz) ¢
t=554s
AX = Gox £
Ax = (20.0m/ ) ces(42.5°)(5:5¢45) = 33.3m

il
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17. (Motion in Two and Three Dimensions) A ball is hit at ground level.
The ball reaches its maximum height above ground level 3.0 s after
being hit. Then 2.5 s after reaching its maximum height, the ball

barely clears a fence that is 97.5 m from where it was hit.

i What maximum height above ground level is reached by the ball?

ii How high is the fence?
iii How far beyond the fence does the ball strike the ground?

Answer: i) 44.1 m ii) 13.4 m iii) 8.86 m

(Xhhmox) “The w‘rOJtc,iorj of the
basebail s shown in the fguwre

Vo e o 7T - L (xgh
l :/ ' . At t3=30s, the ball reahes

& e 7T T T +he moximum h&‘ghf’ hmox , bnd

at t2=%1+30s=55s, it baely clears a fence. at X2 = 9L5m.

Choole. dlewnward as -the posihve jod{rcmon

T) Ay= Yoyt 4 4 ayt™
) | = I kly

hmex = 0 4 .4 g+

me ’T’bﬂ 1 |

hmox = —i— (3-8m/31)(3.05)z. =4y d m

TL) (hTﬂO)\"h) = O_*_i_ﬂ ('tl-t1 )L
G4.Am=h = £ (3.8m/z)(25)° 5 h=1348m & Bm

iTZ) X = 'Uo;( €
J1.5m = Vox (5.55) 5 Vox = 11.%m/

The fohad -Fl?jhf' Tln’kf of the bail s T=21t4 :2,(3'05): 6.08
Thus, the range of baskall is

R=VoxT = (197 m/;-)(é,.os) =106.4 m

whch meéans that the bail tfrovels an addifronal diskonce.

Ax=R=X =106.4ym= 99.5m = $.§6m X 5.9m
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18. (Force and Motion - I) Consider the system shown in figure with m4 =
9.5 kg and mp = 11.5 kg. The angles 84 = 59° and 0 = 32°.

i Draw the free body diagrams for block
A and block B.

ii In the absence of friction, what force F'
would be required to pull the masses at
a constant velocity up?

iii. The force F' now is removed . What is
the magnitude and direction of acceler-
ation of the two blocks?

iv In the absence of F', what is the tension
in the string?

Answer: ii) 140 N iii) @ = —6.7 m/s% iv) 17 N

{I) 3 F'IN ” ﬂJt?b ,: f;

é v T- %;w&” Py

< Py -ﬂﬁﬁ“d} —*‘"ﬁﬁﬁy
_Mas 6
@ FBDs ~» /}t‘;‘ ﬁr ,;,L R TSl gt
b wﬁm .«mr/ﬁ 2y ﬁv-ﬁﬁjﬁ %"ﬂ}’%i
iQCam?sz‘ yfé,qé -0 M ag.,ync"’mff ‘z’?eiz_
C)‘) . /?.7,-!. Sqﬁ'{" Kﬂm.%ggfl
PG gl A gﬂ THUY Sy \ Yt —
@ - —1‘5’4} ML‘? - ,thjg,nc& f—/}/ﬂ?é:dg

m) newd 4 5,5% @ %n%: (‘?J-"Sm S9 | 4.5 3L 3IT = PATN 45 ‘/‘7%"— oA

QT Pnslaty=tpa | F=05mlo50 1) -meg et =mye.
O sl |78~ 095; sl 4(-2)
Tawﬁggqé’q‘*ﬂ{&i é/ o~ [ = ﬂ&q_(dr‘"} S‘wﬂ)
= 4.5(-63+98Snse)
_“" 1é.2N
NCAA
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19. (Force and Motion - I) Figure shows three blocks attached by cords that

[l

loop over frictionless table. The masses are my = 6 kg, mg = 8 kg
and m¢e = 10 kg.

i What is the acceleration of the sys-

B tem?

ii When the block are released, what is
the tension in the cord at the right?

I:I " iii When the block are released, what is
the tension in the cord at the left?

Answer: i) a = 1.63 m/s* ii) Tc = 81.67 N iii) Ty = 68.6 N
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20. (Force and Motion - T) A 1130 kg car is held in place by a light cable
on a frictionless ramp shown in the figure. The cable makes an angle of
31.0° above the surface of the ramp, and the ramp itself rises at 25.0°
above the horizontal.

i Draw a free-body diagram for the car.

ii Find the tension in the cable.

iii How hard does the surface of the ramp
push on the car?

Answer: ii) 5460 N iii) 7220 N

i) Ifx=0
Teos31.0 — Wsin2q0 =0
T = w .5iN25.8
>
os 31.O

T = (1130 kg )(3-80my | S0LE9

Cas 31.0
T = 5460 N

The »F:?E*b;d' diogrom
For the (rl'j- Oﬁ

Z) Iry=0
N+ TsiN31.O — wes 250" =0
N= wcesd50 - Tsin3lo
N = (1130k9) (960 m/S-L) ~ (5460N )sin3i.0" = F220 N
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21. (Force and Motion - IT) Two blocks of masses m; = 1 kg and my = 2 kg
are suspended by a cord from a pulley which is attached to in front of
a wall as shown in figure. A horizontal force of 8.3 N is applied to
second block and the coefficients of static and kinetic frictions between
the wall and the second block are 0.4 and 0.2. Cord and pulley are
massless and pulley is frictionless.

If the blocks, which are initially at rest,

» ____f_' start moving when they are released;
530: i Draw the free body diagrams for
both blocks.
e m; ii Find the acceleration of the blocks.
T

Answer: ii) a = 4.49 m/s?
D 2@ j;—;-ﬁ € rpo.
X ) 58 zﬂﬁé
,a) pﬁgwtélm 07[’ mzoéfm- /\/w/(»-.
My g T-mg=ma 7 o7 Tl @& Fr M P 0,

i3 3
%’O/\?F;J Fsmsc@ ﬂFS’mﬁ‘m’(ﬁﬂ)

Mz x  Fv- FSins3’ =My
~ ) = m, -{'F 53-
o Mg FCsS =T M"a’?i@
»@14»1,)57‘/:(&:5%/’5”"‘}7 a,@
(), +ma

oL M@ww
e 0
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22. (Force and Motion - II) Figure shows an initially stationary block of
mass m on a floor. A force of magnitude 0.500mg (where m is the mass
and g is the gravitational acceleration) is then applied at upward angle

0 = 20°.
What is the magnitude of the acceleration

¥ F of the block across the floor if the friction
L /(V coefficients are
X .e"':__j___

i 1, =0.600 and p1y, = 0.500

ii ps = 0.400 and p = 0.3007

Answer: i) a—0 since no motion ii) 2.17 m/s?

= ' Sa2d 1 s = U.40U and gy, = U.30U
El F- u_?ﬂ'? ra JonS q/‘ motiim

: % Y 1 FSIneo 4 fy - mg=mdy =0 @ O
O T @ oy = 1y~ 11RO < LM

=@ IF)Gs2o - /%(m/ (A Sm2s) =ma
= Q= %(Cafwﬂgm@) -/%j
»c) Ms=0.600 < H,=0.500 ? Shzo=03¢0 & (o520=0"%0
2y = ~0- M =047
£,m¢®= M = He ( g - /F@/SV"'M) = 0.600(, g - 0-500ntg S U)@ ”g
|P)Ges20 - 7@/ ey =M1} 0-500pg 0.950-0.697mg =ma

O @S- o-ut)mp=ma
e —> 70 mo GI7L 2-00@)
{1) /;:o'wa @/1/!:0,300
& = 040013y 0. 500 4y Sin20) = 0332715
GXB-M‘U- 0-332),1?1},—,;74 _7/005764’1/& = motn (%
%Mofﬁu omrts, we e A, : ;
|Fltssz0 —f.=ma } lF'CLsza—/L(/?_/F/mza)sma- @
0.500my 0 40 -0-300(1g - 0-50%g 0.242)=m*
’g ( 0 -S0UX0-9% 0~ 0300 +0.B00 x0-SUJ x0-342)=M3%
= a=0221(9-8mfr)
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23. (Force and Motion - II) A stone which tied to a rope is rotated in a
circular path with a constant speed V in clockwise direction as given
in figure below. At point A, the rope is breaking up and the stone is
released. The radius R of the circular path is 0.50 m.

Vv If the period of the motion is given as
T = 7/20 s calculate;

i Magnitude of the centripetal accel-
eration, a.

ii Time required that the stone hit the
ground, ¢.

iii Maximum height of the stone with

Ground respect to ground, ¥,qz-
Hint: Choose the point A as your origin of the your reference frame.

Answer: i) 800 m/s* ii) 4.11 s iii) 20.91 m

= e 5 ym) Lh't:‘mh \US Ynax = L““‘-I‘L—/' J
B etk o SRIET S e -
) N 35 (0 s) 5 T Ay N et Ney *
\. £ /"_u I'\ \ld? | \_] ol \l"‘
N kl 2 ] 8 ! >
" R T — -
(2omt) - § — (o
Q= 5 c (o3 ) || lJ'f'_',“.L
- —T h= T2194m0¢ )
s il el
e —— — oulm K<
.y @a \ -4t \ Iﬁif‘—j——-‘ = )
'L,L\ o y-Jo = e < 0@ \| ool 2010
- | -T _
! > ak ) ok = e
\'\/\ i » N | e l ﬁ \ \}'-'(ﬂ 1 P e [ 2
| B\ e e
. e W 6\ e s
¥ N | et gl e
i Q//E' i h@ ’u gyt _n0% A \‘. T g can ind e
\— 34 T l L e CLo9d "'\ l—q J A A wLh
- B B¢ Tig i hadl o T it o 3
T \Llll Ehllf:_ )\L—( %) »,(I 2 .Yﬂ:-\x ."& o P nt (Jl-/
| & o ’ = e
L . LU ___;\_kf, lr..'«-.ll‘a- o] ‘nl 'tr\ s }\.'r\ ]|'\n._3 L-‘l:\
e o bl [ WAL s 0Ty e
B EL [ i [ 2
=" = [-"t\ \\ Sa h\ |+DJ
—— fron P ) ¥ T

= 2.0us+ 2673

i 5 Her -t:"'L,aE,'Hfm
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24. (Force and Motion - IT) An astronaut is rotated in a horizontal cen-
trifuge at a radius of 5.0 m.

i What is the astronaut’s speed if the centripetal acceleration has
a magnitude of 6.0g7 (g is the gravitational acceleration)

ii How many revolutions per minute are required to produce this
acceleration?

iii What is the period of the motion?

Answer: i) 17.15 m/s ii) 32.7 rev iii) 1.83 s

rEme
oD voE S MR
1\1@: anlse) M“B‘Si@

o WU s

[mW» _ LOS 4’_1,?,\9—
e : .
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25. (Force and Motion - II) A 28.0 kg block is connected to an empty
2.00 kg bucket by a cord running over a frictionless pulley as shown in
the figure. The coefficient of static friction between the table and the
block is 0.45 and the coefficient of kinetic friction between the table
and the block is 0.32. Sand is gradually added to the bucket until the
system just begins to move. Answer: i) 10.6 kg ii) 0.88 m/s?

28.0kp

i Calculate the mass of sand added to the
bucket.

ii Calculate the acceleration of the system.

3‘.! 4/ F Consider the. frec-loxay
2 dragroms Por ot okyects,
o 7 @ ; As sand

# po inhally stationoy-
i T s added, the fcnsion wil
: ’ increase , ond The force of

m,g shatc ,f‘rn;hcn on the bicrk;

Mg will increase wntill 7t fcoches

its maxmum of FPr: }LsM. Then' the >j”€m will stort to meve

. . L 4he C -+
1) When the stote frichional ferce s at #s maximum, but the 9bjecks
are stitl statienory ;

for the lucket ! IFJ =0 S miq - T =0 — T =m9g
for tix bock ¢ TFg=0 5 N-Mq=0-7 N=Mg

Ifx=0 - T- Fp =0~ T=Fpr, Fpr=fsN

Mg = ps Mg
M = (0.45) (28.0 €g)
my =426 k9

Thus 426 kg=2 00kg = 40.6 kg 1M kg of sand was odded

i) Now the objects will accelerarc. Qg =0, =a The fiictiorod

<force, is new krnedtc friction, given by - =HeN = fHeMg

fordhe bucket 1 Ty = mey —> Mg-T=rma -y T=mg-ma

forthe bleck | T Fx =mex - T_FF’ =Ma — T=F-tra
mg-mia = F-+Ma

(42.6kg) (380 mfst) - (12.6 kg) & = (0:3L) (28069 ) (950 mis*)

(126k9)(380m/st) - U2.big)a = (032)(28.0kg ) (380 st )+0s5.06g)a
a=08§ m/SL
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26. (Force and Motion - IT) A 4.00 kg block is attached to a vertical rod by
means of two strings. When the system rotates about the axis of the
rod, the strings are extended as shown in the figure and the tension in

the upper string is 80.0 N.

125m i What is the tension in the lower cord?
2.00 m 400ke 11 How many revolutions per minute does
the system make?
1.25m
- Answer: i) 31.0 N ii) 44.9 rev/min

(o]
4.00mM e &= 531
4.25m

Sne =

t) If=o
T15n0 = Togin@—mg =0
(8o.0 M) siN531°~ Ty, 5in 53.1° —(7,eos3)¢9&l%
T=3loN

i) X ¥x =mox

TcosG +t e =mV- | = (129m) ws531°= 045 m

/
(50.0N) cos 931° + (34.0 ) o §3.1° = (4.00kg) L2

o.F5m
=393 mf.
- 9 333 mls 0.+49 rev_, eos
- = T = — = ‘ —_—— e = L/L/'g fov
f 200 2 (0.Hm) s Amm Y

26



|ZMIR
kATIF CELEB]
LINIVERSITESI

Izmir Katip Celebi University

Department of Engineering Sciences

Phy101 Physics I

Midterm Examination
April 07, 2019 10:30 — 12:30

Good Luck!

NAME-SURNAME:

SIGNATURE:
Question | Grade | Out of
1A 15
ID:
1B 15
DEPARTMENT: 2 20
3 20
DURATION: 120 minutes A 20
¢ Answer all the questions.
o Write the solutions explicitly and clearly. 5 20
Use the physical terminology.
¢ You are allowed to use Formulae Sheet. TOTAL 110

¢ Calculator is allowed.
¢ You are not allowed to use any other
electronic equipment in the exam.




This page is intentionally left blank. Use the space if needed.



1. A) Estimate the number of breaths taken during an average life time.
(Hints: YOU estimate; the typical life time, the average number
of breaths that a person takes in 1 min. Use chain rule. Use
scientific notation in your final result.)




B) The radius of a solid sphere is measured to be (13.00 £ 0.40) cm,
and its mass is measured to be (3.70 £ 0.04) kg. Determine the
density of the sphere in kilograms per cubic meter and the uncer-

tainty in the density.

R= {f‘ SCL0.2)em-= (6 5010 20)pt0 m

mz ﬁ 55 +p. ‘3")‘57'1.- ( f/{E EE l

.;ﬁt%’ 'W‘VJJ{‘]‘I*/’J”W( = ~AC= (‘lnl_dd.@
C=R° ~> AL E/J’/ﬂ"f (a75%16%3 ) 13) _0-20820 020417 %m.

/ )4 = 254 xfp 53
= (.? 7S A0 ?r-;gz,,m )m @

=275y ;n
prmf
a1 "fajl(ff{m.fmw :.un% a scdar
.i;f (2.75x¢0 1.?545@).” ..J/IS';/O *f m:sw )..

,_ﬁ Hf’q/é Jm&aﬂ/ﬂ;w.wn C=. B_._-Lﬂfs,'ﬁf)/& .dﬁ]z'@
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2. A physics book is dropped from a bridge, falling 90 m to the valley
below the bridge.

i In how much time does it pass through the last 20% of its fall?
ii What is its speed when it begins that last 20% of its fall?
iii What is its speed when it reaches the valley beneath the bridge?

ey, = _ ) g% T Tl the bine 'ﬁ-r%u ";“
% Gk i?f:' ednd b be = L21s




3. A projectile is shot from the edge cliff 120 m above ground level with
an initial speed of 60 m/s at an angle of 30° with the horizontal.

_____ i Determine the distance X of point P
el ™. from the base of the vertical cliff.

N ii. What is the velocity v at point P in
s magnitude-angle notation and in unit-
\ vector notation?

. iii Find the maximum height reached by
projectile above ground.

i 2o
¢ o e h H,\\ Vo= 65 ms Y,m U, Gno
e G)E o :I-Sw b N Ay e 31 .'gf»‘om L%J”bg il
Goroundl, LY Sinss=05t
‘ X YAV, Cos3s=0-82%

\$ S/nOC-4 gl"-’
_;;fm—@fm/)gmis"’t! £ 7'54’/2
= M-Ko = (036 & = 4.94% 37.34¢-115=0

"/’(55”% G535 (1473) ¢, =1373) 2 V333)'- 4l g)(-1iT)
f = | 2069
e ty = - 2.365 ~onof p ..v’a/fe-mgr;a;
P At pond P 42=9.97s=%

__,-—J"-‘-";’-
lﬂ' qux.:-u (o3& " _4’!@! <3.2 ‘4{'60-4!!’?/:):'
i =i
‘%4 by—g €=sSn0) = 507 a/5] Ouctoi’ 22
¥ lesml) (isss Py -8
W (am,;)mas%-a’@/)(mﬂ Y by hot W5 ol 15 A
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.‘iflﬁ Sk’ _f(s'.q/)

]h"’;rm.l =15+ P m

[

'I',cf-:"ss 2 1/, & == 60.2mls
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4. A boy whirls a stone in a horizontal circle of radius 1.5 m and at height
2.0 m above level ground. The string breaks, and the stone flies off
horizontally and strikes the ground after traveling a horizontal distance
of 10 m. What is the magnitude of the centripetal acceleration of the
stone during the circular motion?

(fr;ﬂ; J Vi
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5. A block of mass 3.00 kg is pushed up against a wall by a force P that
makes a 50.0° angle with the horizontal as shown in Figure below. The
coefficient of static friction between the block and the wall is 0.250.

Determine minimum and maximum values for
the magnitude of P that allow the block to
remain stationary.

5, e = 6 Peos50 =oiu?
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